
Y5 – Summer – Block 5 – Step 6 – Calculate with timetables Answers

Question Answer

1

a) 08:45
b) 09:37
c) 09:35
d) 10:10
e) bus A, 08:45

2

a) 17:00 and 19:15
b) 19:30
c) 1 hour
d) No

He has assumed that there are 100 minutes in an hour. There are 60 minutes in an 
hour.
Correct answer: 30 minutes

e) Yes
Each news programme is 15 minutes long, so together the two news programmes are 
on for 30 minutes, which is the same as half an hour.

3

a) 3
b) 39 minutes
c) 07:22

4

5
child’s answers based on their school timetable

14:36

14:58

15:13

15:27

13:32

14:37

11:37

11:51

12:27

08:52

09:07

09:21
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